PhFoFIS

A10341 | BRI /S K

SGPER DBAIRMBIIL/ N> Ko 10mmT LfTo
OAHMNATIIIREMZER ZBREICER TV REH ) EEA,
OEREMDH - XL,

ir
mEI—F A10341 BRI/ K BT (mm) EE
: . . B
PAX | & B | FOR | o ppe AR b A$
ERi ) @ |BEEAE| t | C | Fles | D[P | F (g ;g
0018 15A Y 21.7 20| 25 | M6X20 | 45 | 20 | 6 | 100 zs
0022 20A % 27.2 20| 25 | M 6x20 | 45 | 20 | 6 | 100
0037 25A 1 34.0 20| 25 | M6x20 | 45 | 20 | 6 | 100
0041 32A 1% 42.7 20| 25 | M6x20 | 45 | 20 | 6 | 100
0056 40A 1% 48.6 20| 25 | M6X20 | 45 | 20 | 6 90
0075 50A 2 60.5 20| 25 | M6x20 | 45 | 20 | 6 80
0080 65A 2% 76.3 32| 25 | M6x20 | 45 | 20 | 6 50
0094 80A 3 89.1 32| 25 | M6x20 | 45 | 20 | 6 50
0107 100A 4 114.3 32| 25 | M6x20 | 45 | 20 | 6 25
0111 125A 5 139.8 45 | 32 | M10X30 | 55 | 27 | 8
0126 150A 6 165.2 45 | 32 | M10X30 | 55 | 27 | 8
KORFEWEG, TLOHWRPEDZBELHNET,

A10359 | 27 VB5IRIL/ S K10 t T A4

SGPER DOBAIRMBIIL/ N> Ko 10mmT LfTo
OAHMNATIIIREMZER ZBREICER TV RIEBH ) EEA,
@SUS 3044,

@EI—F A10359 X7 BAiRIL/N M10t T L BIfT (mm)

PAZX | B B |HUOR | wpm FEfEARIL b A%
0012 15A Ya 21.7 20 25 | M6x20 | 45 | 20 6
0027 20A % 271.2 20 | 25 | M 6Xx20 | 45 | 20 | 6
0031 25A 1 34.0 20 25 | M 6%x20 | 45 | 20 6
0046 32A 1% 42.7 20| 25 | M 6%X20 | 45 | 20 6
0065 40A 1% 48.6 20| 25 | M 6%X20 | 45 | 20 6
0070 50A 2 60.5 20| 25 | M 6x20 | 45 | 20 | 6
0084 65A 2% 76.3 30 25 | M6%X20 | 45 | 20 | 6
0099 80A 3 89.1 30| 2 | M6x20 | 45 | 20 | 6
0101 100A 4 114.3 30 25 | M6xXx20 | 45 | 20 6
0116 125A 5 139.8 40 | 32 | M10x35 | 55 | 27 | 8
0135 150A 6 165.2 40 | 32 | M10x35 | 55 | 27 8

KORIR, TLOMRKDPEDZBELHIET,

83%




